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: SECTION - A
Analytical Ability
Questions : 75 ; Qﬁ"ﬂg aamgéé Marks : 75
Srdye: s
@ 1 75

(i) Data Sufficiency

SFod JogRd ‘
Note : Inquestions numbered 1 to 20, a question is followed by data in the form of two statements labelled

as ] and II. You must decide whether the data given in the statements are sufficient to answer the
guestion. Using the data make an appropriate _cho:’ce Jrom (1) to (4]} as per the joliowing
guidelines :

a) Mark choice (1) if the statement I alone is sufficient to answer the question;

b) Mark choice (2) if the statement II alone is sulfficient to answer the question;

c) Mark choice (3) if both the statements I and II are sufficient to answer the cuestion but neither

statement alone is not suflicient; .

d) Mark choice (4] if both the statements I and IT together are not sufficient to answer the question and

additional data is required. :

] 3PS5 1508 20 55% 23 B8 PAHS'D 8 ©F, T Bod 1. Tud Hfwo fo Bod PISIaren Saodom
adgagon. a)d S@ord) 4IArAod a)d BISTo EHY FSrr T adodi doges ||
eYecir Bom ©I N ITEeTD. & INEH §od SrFEHS drgren SIRrAON (1) $308 (4)
585 20 wod 2Tend JohE Sahod. ' '

Q) PHS I5-oSo 2o BIIIe 1 S Soogssoond d azm (1) M #H80E0d.

D) BH% 35rgrSo ATt PIEL0 I SrEH SorgnSoond D zzw (2) m fgobod.

D) PH% 33rerSo ajods BSSTes 1 11€05 SogRdion wokes' J w8 o Borgho TEXB N

= (3) M KBodod. ' _ s

&) @H% 35rerIo Ao BITTeo I 180% srae $0°5%0 3% 0835 S8r050 ©5HEHNS M 2w

(4) ™ K80S08. :

1. What is the ratio between the areas of a ' I nelds 2 3 araodadd
cgd&:tiiaerzmz:bcs the rectangle, ) ne38 p<n odgtnod J EFd
I} The radius of the circle is 4 cin. Dopg p B arhodaddy
wf Syo, uf éga&d@o Toge 28 288 4. Can you find the ordered pair (a, b} ?
wod ? ' ' 1) 2is therootof x- ¥2* =0

I} lisarootof x*-b=0

) & Sy 6% FHERY S8ydo IFod. ESuto (a, b) ESEStoT 7

I & 38 Tgargo 4 Do,

2. \Ii’lm.tis_tl:levtl.lué:x“’-!-y‘3 2 h _ I} x-+2* =08 2 Sorwo
x4+ y* Dendd Do 2 I} x*-b=08 12§ Sorvo
Il x+y=1 TN x%+y? <05 5. Is x" - 1 a factor of f{x%) ?
3. Isn>1a composite number ? flx") & x® -1 af TSrosdr ?
1) n fs not divisible by 2 ) 10} =0 m 1) = 0
10 nis not divisible by any prime p with 6. What is the present age of A ?
LEREY : I) Ahas a son B of age 7 years

B> 1ak Sodng Sowrg 7 I After 7 years their age ratio will be 1:3
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7. Is the product 'ab' an irrational number?

I) ais an irrational number
II) b is an jrrational number

ozo 'ab' af ewssdah Sogrg 7
) aw¥ o8sdad dopg

) bzg esddod dompg
8. Whatisthe average marks of 7 students?

[I) The marks of one of the six students is
58.

7 08 2TgHo S Srdy Jod ?
) S8&° 6 Dod dEgSpeo diito Sray, 54

) & ebHhed” w8 Srdy, 58
9. WhatisAuB?
AUBG T
) A={1, 23} IMA-B=(3. 4}
10. What is the value of Cos?6 + Cos*6 =17
Cos? 0 + Cos* f D Jod 7
I) Cos®8+Sin*6=1
) SinB+sin?0=1
11. Is the value of x unique ?
X Dedis DTESF 7
I) x<0 mx2=16
12. InAABC,D andE are points on ABand BC
respectively and AC = 7 cm. What is the
length of DE? :
I) D is the mid-point of AB
11} E is the mid-point of BC
A ABC & D, E = 3%5T AB, BC ©3
Dodhiges, AC = 7 0o.2., DE 24308 ?
) ABS D &g 8o

) BCS E Sodig Doda
13. Isx>y ?
x>y wydol 7
) 55=2% Mmy=-2
14. Is A a scalar matrix ?
I) Als the unit matrix
i) Ais a non-singular matrix

Anf b7 SrBF 7
) A ChrE SmB8
1) A 2% wdugn @8

1F. What is the cost of 1 chair and 1 table ?
I) The cost of 2 chairs and 1 iable is

I) The average marks of 6 of them is 54. .

1 ‘abj. 1 Bwoen pbBod 7
) 2 Sofyen, 1 Hened b 8. 1,100

) 158, 2 Bl b & 1,300

16. What is the compound interest ?
I) The principle amount is Rss 12,000
II) The rate of interest per annum is 8%

SESS Jod ?
I) wdeo &r. 12,000
) 3§ 3t JodHT 8 8%
17. Aand B are two trains of the same length.
Which of the two is moving faster?
I) Acrossesatelegraphpolein 10seconds |

1) B crosses a telegraph pole in 12 sec-
onds

A, B a¥ 243 fio Dok B¢, & Tobodd
28 Ao 3o ?
) Awng BOrs Sourd) 10 DESS
Todod.
M B 28 Bors Joyrdy 12 il
oréindood, :
18. What is the value of y ?
¥ Jend Jod ?
I) -3 =0 Mx=1
19. What is the area of the triangle ?
1) Itis a right angled triangle.
II) It is an equilateral triangle with each
side of 4 em long.
B0z JToDod ?
. ) 08 e vonf'n @H2o

1) ©& ghzo 4 0.0, Ko SSerdo Bbzo
20. What is the X-intercept of the straight
line?
I} It passes through (5, 0] and {0, 4)
I} 1t passes through (0, 6)
5660y X-Byrpody 2408 7
) w8 (8, 0), (0, 4) © oo Hdood
I o8 (0, 6) oo Héo0d
(ii) Problem Solving :

DSy 63

Note : In questions numbered 21 to 35 a se-
quence of numbers or letters that follow a
definite pattern are given. Each question

has a blank space. This has to be filled by

the correct answer from the four given
options to complete the sequence without
breaking the pattem.

B ;218008 35 565 Sowd o B8 PHeSr
Cad dopgoe MR wioen M wf

Rs. 1,100

cag BRI,

II) The cost of 1 chair and 2 tables is ESomgoons Jehiry Ry ee
Rs. 1,300. OHSEr o od Yod. » 3D QS



T mﬂq}s'u 008 50 vowd zawd
IENER wHES Db Ira8 Polfo Egkbon

FrBowrd.
. 21. 6, 18, 54, ..... , 486, 1458
1) 108 - 2) 162 3) 169 4) 38l
22. BD, CE, DF, ........ . FH, GI
1) EA 2] EB 3) ED 4) EG
- 23. 6, 14, 24, 386, ......
1} 40 2) 44 3) 48 4) 30
24, ..cceenes, 2342, 3453, 4564, 5675
] 1) 1231 2) 1232 3) 1233 4] 1234
25. 136, 100, 75, ....., 50, 46, 45
1) 53 2) 65 3) 59 4) 60
1 8 27 125 216
5'9°13 77" 21" 25
35 64 75 81
4 16 2 17 ] 18 4 19
27.. B2:122:: iiiaens 1226
1) 145 2) 170 .3) 185 4] 210
28. ANXYBO, CPXYDg, ERXYFS, ...cccoonnsy
1) GTXYHU 2) DOXYPS
3) ABXYCD 4) CEXYFG
29. ZYX, WVU, ........, QPO, NML, KJI
1)RST 2)SRT 3)TSR 4] TRS
30. 125:64::343: ..........
11125 2)216 . 3)96 4) 64
31. LMN:PQR::........ : WXY
1)TSU 2)UTS 3)STU 4)TOS
32. AF:GL::........:UZ :
T 1)TO 2) 0T 3IMT 4 T™M
33. CET, DFU, EGV, .......,, GIX
1)FHH 2)FWH 3)FHW 4) FWW
'84. 55:19::29: ....... :
: 1)5 2) 4 ‘313 41
385. DFIK, GILN, oy CE— . g
1) MPRO 2) MORP 3) MRPO 4] MORT

Note : Answer the questions 36 to 40 based on
theinformation given in the following venn
eSS 2 8ol aiE IS D@0 serorr 36 K008 40
568 fo PhHot aredSny,

/5
(7

38 'melmmberofdemenuinAbutmthc
A& sobr C & 8D Srore dowg

A B

88. The set having 10 elements is

10 Sorofoes o Ddd
lNAm~BlwC ANAaAvB nC
IAuBLC AANBAC

39. The number of elements in the set A

P AL Srore Sogg
. 1) 36 2} 46 3) 54 4) 56
40. The number of elements in AUBw C

AuUBuUCID Srory Soypg

W

fo BHos 2320050,

Sis :
1)210 2)230 3)240 4)260

1) 46 2) 55 3) 43 4] 93
Note : In questions numbered 41 to 50 pick the
odd thing out.
SrESS 0 41 5008 50 585 Ko @ﬁud‘ B T
5gotsed.
41. (1104 (2)0.04 (3)0.404 (4) 0.0004
42. (1) 101 (2) 170 (3) 196 (4) 226
43. (1) 101 (2) 2002 (3) 3003 (4) 400004
44. (1) 6622 (2) 8844 .(3) 9933 (4) 3311
45. (1)129 (2) 127 (30125 (4) 123
46. (l1)CBA (2)DCB (3)EDC (4} FEP ~ -
47. (JACE (2)FHJ (3)SUV (4) RTV
48. (1)0A (@ 1U (3AEB () Al
49. (1)XYZ (2)PQR (3)LMN (4) TSR
80, (YW (2)VS . (3JRO {4INK
Note : The following Pie Chart gives the marks
obtained by a student in subjects E. H, B,
T. G. S and M. The total marks of the
- student is 360. Using the injormation
answer the questions from 51 to 55,
Arsd Joggé E. H, B, T, G, 8, M &3

SPROS S Srin, o §od Al D
g auy. © domgg Ingo Srdye
360. & TR 4HATAOD 5135008 55 $6%

B1. The total marks obtained in B, G, Mand |

How many marks thie student got in

D18 2)30 3136  4)46 52.

3.71 ‘menumba_rofnlemntﬂnunm-c subject B ? )
VANE) - C D Srore Sogg 378 B aoppt SN Sed0) ¢
e 210 312 418 55 - 245 948 450




53

54.

55.

. The marks in G I8 equal to the sum of the

marks in the subjects ..... and ........
G ¢ SO)3 Srdyen, DS e

Sron e odT A8 BErdo

IME 2IHE 3B E 4MH
What is the average mark of the student
in the subjects M, E and B ?

oot M, E, B 32H0dD Srdye Shiks

Jo8?

1) 45 2) 50 3) 55 4) 56

In which subject the student got maxi-
mum marks ?

S ;5‘5'3535' .'Ju'_ggs @arHE Sy e Soyen?
nG 218 3T 4} M

61.

62.

63.

Note : Questions numbered 56 to B85 are to be 64. What is the code for "POTO" ?
answered using the coding and decoding i .
of the letters in English alphabet as given POTO" § ¥5 D& ?
below : For coding the r'"letter is shifted to 1) BDLD 2)DDLD 3)BDDL 4) DBLB
(27 - 2rf" letter forr=1,2,3. ....., 13; the 65. What is the code for "TENDER" ?
14" letter is shifted to the 26™ letter and P
forr=15,16, ...., 26 the " letter is shifted "TENDER" ¢ ¥& 580 28 ?
to (2r - 28)" letter. For decoding the 1) LZQHZS 2) LQZSQH
inverse process is followed. 3) LQZSSH 4) LQZHHS
SrSS ;56 Sood 65 S0 o PHo JdrpTw 66. How many numbers from 1 to 100 are
i 5 there each of which is not only divisible
2icrd8 R0l wEsires'd virvk b & but aiso has 4 ass dipt? _
foE SgiF SR 4! @aas o 1 %06 100 $55 fo Sopged’ 4 B Jhom
s8drhomd. Sdofite rd SR hosadahes 40 wl @0t o Sop;dR?
r=1,2,3, ..., 13, ©onsddyd (27 - 21 — 220 310 47
wEodb; r= 14 wonSHydd 263 wEo b, 67. Howmany dayswere mmmmz&.hnn-
, 1988
r= 15, 16,..., 26 WONSHYE (2r - 26)3 el e foot
WERE SR 19880lE R DX 26 w30, 1988 o6 15, 1988 36 I3)
L:JLgcﬁJ;\'D SH@rhoTd. ) b‘a’wn}w (6‘ Bodk Tares ‘gb)?
56. Which word is coded as QTIA" ? D110 2111 H12 4113
J 580 "QTIA" It §'6 ©dod 7 68. If2*3=11,3*4=85and2*4=20then
1) MIEX 2)EXIM 3)MIXE 4] EMIX B*3 % cueeees '
57 "Whata podadiesrEIZERY 2+*3=11,3%4=85 2"4=20exd
"EIZCQV" It 8 eonida ? 5*3=...... .
1) KITKAT 2] KITPIfE 1128 215  3)28 4186
3) KINLEY 4) KIND *b=a’+ab+3then3*(4*5)=...
56. Which letter is coded as"V* ? | v Ui ) gy e
- Qad ». * B opuens
W 68 wond efEhe ? Rt Eaby o m :
NP 2 Q 3) X 4Y 1) 12 2) 19 3)129 4)60
59. In the coding what the code letter for 70. In o:h; gﬁﬁ'{jﬁﬁ:’iﬁm’] o
i even number is followed by two odd
& Faof* 's" & T8 it ? numbers ?
I Bhd, I ol e w50¢ 185729843627518943659 8" 29)
60. Which letter is shifted to itsell in :
coding? :&adu‘ad: ao-d) B Hopge TS ¥ Jodowg
Paokd' 008 od F8 wond efsdd 7 Sonos? 4 -
| uN gm 3 aX no 21 3

"QYZLY" is the code for ‘
"OYZLY' &35 ... R 11

1) FANTA 2) LIMCA

3) FUNTO 4) FOREX

Which word is decoded as "AYMZNA" ?
"AYMZNA"  B'S wond 3558 7

1) MAGNUM 2) MAGNET

3) MAGICS 4) MAJORS

In the coding how many letters are shifted
to themselves ?

FQofid a0 sicw 88 o £4
BehubITon?
121 28

33 4] 4




